15.‘},&051,052, O IEWE%W|@VP\]_/|\FG__|§§H,%

(0, 0) (aq,00) -+ (g, 00)
D= (042?041) (azjaz) (042?045)
(o, 00) (g, 0) -+ (v, )

EBR: oy, 00, a, M TERKBVFTT DN B KA RBdet (D) # 0.
Pf=®%a1,a2,---,aszﬂgaﬁa&,mu‘chai —0= 6= 0. (5)
(ala az) (al, 0&,) (al’ Z Ci ai)

(a27a) (a27a')

ZEDIO84 S el =00 (Ozz,Zciai) —0

(as,ozi) (as,00) (aS,Zciai)
T2 (OéjaZciou) =072 ch (Oéj?Zciaz‘) = 0,81 (Z Ciaiazciai) =0, 7R Zcia" = 0,88 (+),:=0.

DRSIa8LMTTK, thdet (D) # 0.

D

(a27a)

@35det (D) # 0,0 D BIBIEBLMTF, N Y e, =0= =07 (x)

(as)ai)
(o, ) _(O‘l’zciai)‘
53 o =0.(0, Y ) =@, 0=0,F8 Y e ¥ | = (“2’2‘:"%) = 0,808 (),¢, =0,

) (0,520

10885 U DENKEAMESU = P +1Q(HP P, Q RSRn D).
EBRU NBREENTRRGR: POXIRBPP' +Q'Q=E.

Pf: OB U NEREE, W (P +iQ) (P’ —iQ")=UU"=E
BI(PP'+QQ")+i(QP' — PQ")=E

LLRSIEAORE BMS R PP + QQ' = E,QP' = PQ' = (QP")' 1S !

@EP QIR EHPP' +Q'Q=ENPQ=(PQ)=QP.
TRUU=(P+iQ) (P'—iQ")=(PP' +QQ") +i(QP' — PQ") = EAJIE!

1618 A B n BTG VAR — MM TR, A" = — AIER: ANIFSHHHEDBRLEE
PER N R ANFTBRHE BT A" = — A, A + A" =0, B2 + MR A + A BURFHE, FTUN + A =0
TRNBLEO, BLEMEH.



